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TrigonometryExercise Answers for ID 9844

[T1] =0, [T2] =m, [T3] =m, [T4] =0, [T5]:§

371 T 371 2n b
[T§]==7  [17]=T. (T8 = [19=".  [T10]=7
11 =28 127 =T 137 =% 147 =1 T15] =—
[ ] - 3 £ [ ] - 3 £ [ ] - 4 £ [ ] - 4 s [ ] - 4
T16] =2~ 17 = LT TI8] =— 197 =2~ 207 =L~
[ ]_ 4 ) [ ] - 6 bl [ ] - 65 [ ] - 6 > [ ] - 6
[T21] =0,  [T22]=-1,  [T23] ="undefined",  [T24] =-1,  [T25] =-I, @
[T26] =0,  [T27]=0,  [T28] = "undefined",  [T29] = 31 [T30] = —@, @
[T31] :#, [T32] =[3,  [T33] =- @ [T34] :@, [T35] =1, @
[T36] =—[2,  [T37] = 31 [T38] = — @ [T39] =A[3,  [T40] =2, i @
[T41] =17, [T42] =1,  [T43] =-4,  [T44] =12

X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXKXKXXXKXXKXXKXXKXKKXXKX KKK KKK KX XXX KL XXX XXX KK KXXKXKKKXME /1-6700301-00002XX
TrigonometryExercise Answers for ID 9872

[Tl =n,  [T2] =0,

3w
[T3]=m  [T4=0,  [T5]="—
76, e T7 e T8 —3—n 79 —Z—R T10 =
[]_23 []_23 []_27 []_3’ [ ]_3
T11 *4—n Ti2 ek Ti3 == T4 1z Ti5 -
[]_35 []_35 []_45 []_4’ []_4
Ti6, —ﬂ Ti7] = Hr Ti8 —E T19 = 720 _5_7:
[T16] === [TI7] == [TI8] === [TI9] =", [120] ==
[T21] =1,  [T22] =0,  [T23]=1,  [T24] =0,  [T25] =0, , @
[T26] =1,  [T27] ="undefined",  /T28] = "undefined",  [T29] = @ [T30] = % , @
[T31] :%, [T32] =[3,  [T33] = —@, [T34] :@, [T35] =1, @
[T36] =2, [T37]:%, [T38]:—@, [T39] =2, [T40]=—%, @
[T41] =-30,  [T42] =3,
X [Page 0001]

[T43] =33,  [T44] =26
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TrigonometryExercise Answers for ID 9873

[TI]=0, [T2]==n,  [T3]=m,  [T4] =0, [T5] :g
R T R 4 S5n
[T6]==7  [T7]=T. (18] =  [T9=—  [TI0]="
2n T T E 3n
[Tl ==~ [T12]=7.  [TI3]=7. [Tl =" [TI5] ==
S5m Sm Tn b 1=
[TI6] == [T17]=="  [TI§)== [T =, [T20] ==
[T21] =0,  [T22] =1,  [T23] ="undefined",  [T24] = "undefined",  [T25] =1, , @
3 -1 1
[T26] =0, [T27]=0,  [T28] ="undefined",  [129] =="=  [T30] =7, S
[T31] =+3,  [T32] = —#, [T33] = —@, [T34] :@, [T35] =2, @
[T36] =1,  [T37] = @ [T38] = 31 [T39] = @ [T40] = -2, , @
[T41] =3,  [T42] =45,

[T43] =-6,  [T44] = -28
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TrigonometryExercise Answers for ID 9884

[T1] =0,  [T2] =0,

37
(T3] =x (T4 =m  [T5]="
T6] =~ 7] =L 78] =— o] = 2% T10] =~
[ ] - 29 [’ ] - 2 B [ ] - 2’ [- ] - 3 > [ ] - 3
11y =22 12 =% T13] =— T4 == T15] =22
[ ]'_ 3 H [ ]'_ 3 H [ 4]_ 47 [ ]'_ 4 > [ ]'_ 4
T16) == r17) < L2 T18) =1~ T19) =% 20] ==
[]—4, []_6’ []_6’ []_6’ []—6
[T21] =0,  [T22] =1,  [T23] = "undefined",  [T24] =0,  [T25] =-I, @
[T26] =0,  [T27]=0,  [T28] = "undefined",  [T29] =%, [T30] =@, @
[T31]:¥, [T32] =2, [T33]:—g, [T34]:@, [T35] =42, @
[T36] =2, [T37] :%, [T38] =—@, [T39]:@, [T40] =43, il
[T41] = -44,
X [Page = 0002]

~

[T42] =0,  [T43] =-23,  [T44] =-51
):9:0:0.0:9.9:0.9:9.:9:0.9:9.:9:0.9:0:0:0.0:9.0:0.9:9.9:0.9:0:9:0.9:0:0:0.0:0:0:0.0:9.9:0.0:0:9:0.0:9:0:0.0:0:0:0.0:9.0:0.0:9.0:0.0:9.0:0.0:0.0:0.0:9:0:0.0.:0.0:0.0:0:9:0.0:0.0:0.0:¢




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXX XX XX XXX XX XXXXXXXM5/1-6700301-00005XX
TrigonometryExercise Answers for ID 9885

[Tl]=n,  [T2]=m,  [T3]=0, [T4]=0,  [T5] :%
76] = 7] == 18] =L ro7 = 2% r10] =2
[ ] - 2 > [ .] - 27 [ .] - 2 B [ ] - 3 s [ ] - 3
i) == r12) =22 r13) =2~ T14 =1 T15) =2
[ ] - 3, [ ] - > [ ] - 4 > [ ] - 4 > [ ] - 4
Ti6] =— 17 =% r18) == 7107 =11 T20] ==
[ ] - 4’ [ ] - 6 > [ ] - 6 > [ ] - 6 ] [ ] - 6
[T21] =0,  [T22] =-1,  [T23] ="undefined”,  [T24] =0,  [T25] =0, : @
3 -1 1
[T26] =1, [T27]=0,  [128] ="undefined”,  [T29] ===, [T30] =7, S
[T31] :@, [T32] =2, [T33] = @ [T34] = — @ [T35] =1, , @
[T36] =42, [T37] = @ [T38] = 31 [T39] = @ [T40] =43, , @
[T41] =26,  [T42] =15,  [T43] =5,  [T44] =2
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TrigonometryExercise Answers for ID 9895

[T1]=0,  [T2]=m,

[T3] ==,  [T4]=0,  [T5] :%
mg =% gyt oyt gy -tE mg -t
- 2 9 - 2 2 _2, = 3 N _3
11y =22 12 =% T13] =— T4 =2 TIS] =~
[]—3, []—3, []—4, []—4, [T15] 2
T16) ==~ T17] ==~ T18) =T T19] =~ 20 =22
[TI6] ==~ [T17]=¢.  [TI§)=——  [T19] ===  [120] =~
\
T2 =1, [T22]=0.  [T23] =0,  [T24] ="undefined”,  [T25] =-1, , #
3 1 "0
[T26] =0, [T27] ="undefined",  [T28] ="undefined",  [T29] === [T30]=7. .~
243 5 5 \
[1317== { pes = mgZ  mge, 4
3 -1 \
[T36] =1, [T37]:§, (138 =7, [T39] =+[3,  [T40] =2, 4
[T41] =63,  [T42] =18,  [T43] =-28,
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[T44] =5
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TrigonometryExercise Answers for ID 9898

[Tl]=n, [T2]=n, [T3]=0, [T4]=0,  [T5] :g
76, —3—ﬂ 17 —3—n 18 - 79 _5_1: T10, _2_1:
[ ]'_ 2 ’ [ ]'_ 2 ’ [ ]'_25 [ ]'_ 3 s [ ]'_ 3
T11 —4—n TI2 - T13 —37[ T14 —Sn TI5 i
[ ] - 3 > [ ] - 39 [ ] - 4 > [ ] - 4 > [ ] - 4
Tn b T 11n 5n
[TI6] == [T17]="(  [T18] === [TI9] ==  [T20] ="~
[T21] =-1, [T22] =0, [T23] =0, [T24] ="undefined", [T25] =0, ,@
[T26] =-1,  [T27] ="undefined",  [728] = "undefined",  [T29] =— @ [T30] = % , @
[T31] = % [T32] = @ [T33] = @ [T34] = — @ [T35] =2, , @
[T36] =1,  [T37] = 31 [T38] = — @ [T39] =A[3,  [T40] = - % , @
[T41] =18,  [T42] =1,  [T43] =9,  [T44] =64

X Math@MUT XXXXXXXXXXXXXXXXXKXXXXKXXKXKXKXXKXXKXXKKXXKXKKXXKX KKK KKXXKX XXX KL KKK XXX KXKXXKXKKXME /1-6700301-00008XX
TrigonometryExercise Answers for ID 9899

[T1] =0,  [T2]=m,  [T3]=0, [T4]=nm, [T5]=3TTE

e I B S L S L A .
T T T2 T3 3
11y =28 12 =28 137 =% T14) =2 157 =22
[]—3, []—3, []—4, []—4, []—4
T T Tn ST 117
[TI6] =—,  [TI7]=—,  [TI§] =—~,  [TI9] ==,  [T20] =
4 6 6 6
Ji
[T21] =-1,  [T22] =0,  [T23] ="undefined",  [T24] =-1,  [T25] =0, )
3 -1 i
[T26] =1, [127] = "undefined”,  [T26] = "undefined”,  [T29] =<, [T30] =7, S
3 2 2 \
[T31] =43, [T32) :§° [T33] = — g [T34] = — g [T35] =1, i
3 1 \
[T36] =1,  [T37] :g, [T38] =7, [T39]=-2  [T40] =43, . {
[T41] =111,  [T42] =25,  [T43]=-9,  [T44] =2
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TrigonometryExercise Answers for ID 9920
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[T1] =0, [T2] =, [T3] ==, [T4] =0, [T5]:§
3n i 37 Sn b
[T6]=7, [T7]:;, [T8]:T, [T9]:T, [T]O]:E
27 41 37 b e
[TH]:T’ [TM]:T’ [TI3]:T, [TI4]:2, [T15]:T
Ti6, *H T17 *S—n T18, *ll—n T19, -z 720 77_75
[ ]_ 4 > [ ]_ 6 > [ ] - 6 > [ ]_ 6’ [ ] - 6
[T21] =1, [T22] =0, [T23] =0, [T24] = "undefined", [T25] =0, ,@
[T26] = -1, [T27] ="undefined", [T28] =0, [T29] :%, [T30] —@, ,@
[T31] =-2, [T32]:—#, [T33]:—£, [T34]:—@, [T35]:«/E, ,@
[T36] =1, [T37]:%, [T38]:@, [T39] =2, [T40]:#, ﬂ
[T41] =56, [T42] =-56, [T43] =-1,

/
[T44] =7

TrigonometryExercise Answers for ID 10000
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[T1] =0,  [T2]=n, [T3]=n, [T4] =0, [T5] :37“
3n T T S 4n
[T6] = [T7] =5 [T8] = [T9] =5 [T10] -
T11] == 112y = 2% T13] < L .
[Thp==,  [T12]==7 [TB]==7= [T =7 [TI5] =7
T16) =22 177 =22 T18) <2 T19] == T20] ==
[riej === [TI7] ==~ [TI§] === [TI9] =", [T20] ==
[T21] =0,  [T22] =1,  [T23] ="undefined",  [T24] =1,  [T25] =0, @
[T26] =-1,  [T27] =-1,  [T28] ="undefined", [T29]:%, [T30]:_@, ﬂ
[T3]]:£, [T32] =2, [T33]:@, [T34]:£7 [T35] =1,
[T36] =~\/E, [T37] :@, [T38] :%
[T41] = -15,
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/
bl
T/
243 i
[T39] =2, [T40] = 3 , T
[T42] =-1, [T43] =0, [T44] =72
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TrigonometryExercise Answers for ID 10017

[TI] =0,  [T2] =0,

[T3]=n, [T4]=m,  [T5] =§
RE s T 37
16 == (T]=%. (T8 =" [19]= [T10] =
iy =L 1 =2 T13] =~ T14] = TIS —3—n
rup==r =T my=t g s ==,
T16] =2~ r17) ==~ T18) =~ 7197 =12 T20] ==
[]—4, []—6 []_6’ [T19] = ) []—6
[T21] =0,  [T22] =1,  [T23]=-1,  [T24] =0,  [T25] =0, @
[T26] =1,  [T27] = "undefined",  [T28] =1, [TZQ]——@, [T30]:%, @
[T31] = —#, [T32] =2,  [T33] = —@, [T34] = - @ [T35] =1, , @
[T36] =—[2, [T37]:%, [T38]_ﬁ

=" [T39]=2.  [T40]=- i

3 2 bl
[T41] =24,  [T42] =-57,  [T43] = -6,

.

[T44] = -8
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TrigonometryExercise Answers for ID 10025

[Tl]=n,  [T2]=m,

3n
[T3]=0,  [T4]=0,  [T5]="~
T6, —3—7[ T7 I T8 z T9 —S—TE T10 _4_7:
[]—2, []—2, []—2 []—3, []—3
Tl n Ti2 = Ti3 o Ti4 *3— Ti5 *7—
[]—3, []—3, []—4 []—4 []—4
Ti6 z T17 X T8 lln T19 —7—n 720 —S—TE
[]—4 []_6’ [TI8] = []—6 []—6
[T21] =-1 [T22] =0,  [T23]=-1 [T24] ="undefined",  /T25] =0, , @
3 ! il
[T26] =1, [T27] =1, [T28] ="undefined",  [T29] === [T30] =7, S
[T3]]:@, [T32]:—¥, [T33]=—@, [T34]:@, [1735] =42, @
[T36] =1, [T37]:i, [T38]=§, [T39]=%, [T40]=@, ,@
[T41] =-45,  [T42] = 156,
X [Page = 0006]

[T43] =8,  [T44] =-33
):9:0:0.0:9.9:0.9:9.:9:0.9:9.:9:0.9:0:0:0.0:9.0:0.9:9.9:0.9:0:9:0.9:0:0:0.0:0:0:0.0:9.9:0.0:0:9:0.0:9:0:0.0:0:0:0.0:9.0:0.0:9.0:0.0:9.0:0.0:0.0:0.0:9:0:0.0.:0.0:0.0:0:9:0.0:0.0:0.0:¢




TrigonometryExercise Answers for ID 10057
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[T1] =0, [T2] =0, [T3] =m, [T4] =m, [T5]:37TE
b 3n T 4 Sn
[T6]:z, [T7]:7, [T8]:;, [T9]:T, [T]O]:T
T11 - T12 —2—7[ T13 —7—7[ T14 - T15 —3—7[
[ ]_ 39 [ ] - 3 > [ ] - 4 > [ ] - 49 [ ] - 4
Ti6, ek T17, ek T18 Iz T19] = Hr 720 -
[ ]_ 4 H [ ]_ 6 H [ ] - 6 ’ [ ] - 6 H [ ]_ 6
[T21] =0, [T22] =1, [T23] ="undefined", [T24] =1, [T25] =0, ,@
3 1 il
[T26] =1, [T27] =-1, [T28] = "undefined", [T29] :T, [T30] :;’ ,7
[T31]:@, [T32] =¥, [T33]:£, [T34] =—@, [T35] =1, @
[T36] =—[2,  [T37] = @ [T38] = ?1 [T39] = @ [T40] =2, , @
[T41] =-12,  [T42]=-78,  [T43]=-22,  [T44] =4

TrigonometryExercise Answers for ID 10061
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[T]] =m, [T2] =0, [T3] =0, [T4] ==, [T5]:§
T6, —3—7[ 17, = T8 —3—n 79 —4—TC T10 _Z
[]_23 []_23 []_2’ []_3a [ ]_3
T11 ek Ti2 72_75 Ti3 1T T4 - TI5 *3—n
[ ]_ 3 > [ ]_ 3 > [ ]_ 4 > [ ]_ 47 [ ]_ 4
T16, —ﬂ Ti7 —S—TC TiS8 = T19] = Hr 720 _7_7:
[T16] === [TI7] == 7 [TI18] =2, [TI9] === [120] ==,
[T21] =0,  [T22]=-1,  [T23]=-1,  [T24] ="undefined",  [T25] =1, , @
[T26] =0,  [T27] =-1,  [T28] ="undefined",  [T29] = g [T30] = ;1 , @
[T3I]:«/;, [T32]:@, [T33]=£, [T34]=@, [T35] =1, R
I3 1
[T36] =42, [137] === [T3§] =7  [T39] =
[T41] =0,
X [Page = 0007]

[T42] =-T7,

(9%}

. [T0]=2,
[T43] =-14,  [T44] =-7
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TrigonometryExercise Answers for ID 10071

[T1] =0, [T2] =m, [T3] =m, [T4] =0, [T5]:§

3n b 3w 2 S5n
[T6]:T, [T7]:;, [T8]:T’ [T9]:T, [T]O]:T
T11 - T12 —4—7[ T13 —7—7[ T14 - T15 —S—T[
[ ]_ 39 [ ] - 3 > [ ] - 4 > [ ] - 49 [ ] - 4
Ti6, *ﬁ T17, - T18 1T T19] = Hr 720, ek
[ ]_ 4 H [ ]_ 6’ [ ]_ 6 H [ ]_ 6 H [ ] - 6
[T21] =-1,  [T22] =0,  [T23] ="undefined",  /[724] ="undefined",  [T25] =0, @
3 1 il
[T26] =1, [T27] =-1, [T28] =0, [T29]:—T, [T30]:;, ,7
[T31] =2,  [T32] =43, [T33]:@, [T34] =—@, [T35] =1, @
[T36] =1,  [T37] :—@, [T38] =%, [T39] =¥, [T40] :@, @

[T41] =102,  [T42] =-4,  [T43] =-3,  [T44] =-10
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TrigonometryExercise Answers for ID 10088

[Tl]=n,  [T2]=n,  [T3]=0, [T4] =0,  [T5] :37“

T 3n b Sn 4n
[T6] =", (T7]="r7  [T8]=",  [T9 =" [TI0] ==~
T11 = Ti2 72_7r Ti3 *S—E Ti4 = Tl5 73_7r
[ ]_ 37 [ ] - 3 > [ ] - 4 ’ [ ] - 47 [ ] - 4
Ti6 —ﬁ Tl7] = Hn TI18 —ﬂ TI19 X 720 _7_7:
[]—4, []—6, []—6, []—6, []—6
[T21] =0,  [T22] =-1,  [T23] ="undefined",  [T24] =-1,  [T25] =0, , @
3 ! il
[T26] =-1,  [T27] ="undefined",  [T28] =-1,  [T29] == [T30] =7, S
[T3I]:@, [T32]:¥, [T33]:@, [T34]=—@, [T35] =1, ,@
[T36] =42, [T37]=%, [T38]:—§, [T39]=#, [T40] =2, @

[T41] =6,  [T42] =32,  [T43] =22,  [T44] =-10

X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKXKXKXXKXKXKKKXKXKXKXKXKXKXKKKXKXKXKKKXKKKXKXKKXKXKXKKKXKKXKXKKKK




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXX XX XXX XX XX KX XXX XX XXXXXXXM5/1-6700301-00017XX
TrigonometryExercise Answers for ID 10385

[T1] =0,  [T2] =0,

37
[T3]=n  [T4=m  [T5]="
T6] = 7] == 78] =— 9] =— r10] =2
[.]_25 []_25 []_25 []_35 [ ]_3
i =22 12 =% T13) =1~ T14] =~ Ti5] =
[ ] - 3 > [ ] - 3 > [ ] - 4 > [ ] - 49 [ ] - 4
T16] =2~ r17) ==~ T18] = T19] =— 20 =2
[ ]_4’ [ ]_6’ [ ]_6’ [ ]_6’ [ ]_6
[T21] =-1,  [T22] =0,  [T23] =1,  [T24] ="undefined",  [T25] =0, @
3 -1 1
[T26] =-1,  [T27] ="undefined”,  [T28] ="undefined’,  [T29] ===, [T30] =7, i
[T31]:#, [T32]:@, [T33]:—@, [T34]:—@, [T35] =1, @
3 1 1
[T36] =2, [T37] === (138 =, [T39] =A[3,  [T40] = -2, S
[T41] =-11,  [T42] =21,  [T43] =-16,  [T44] =-13

X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXKXKXKXXKXXXXKKXXKXKKXXKX KKK KEXXKX XXX KL XXX XXX KK KKK KXXKKXME /1-6700301-00018XX
TrigonometryExercise Answers for ID 10387

[Tl]=n,  [T2] =0,

/T3] =m, [T4] =0, [T5]:§
[T6]—3—7T [T7]—3—TE [T8]—£ [T9]—2—Tc [T]O]—4—Tc
T2 T2 o 37 3
T S5n S5n T
[T11] =—, [T12] =——, [T13] =—, [T14] =——, [T15] =
3 3 4 4
Tn Tn 11w 5n
[T16]:T, [T]7]:?, [T]8]:T, [T19] =——, [T20] =—
Jr
[T21] =1, [T22] =0, /T23] = "undefined", [/T24] = "undefined", [T25] =0, ,7
1 3 |t
[T26] =-1, [T27] = "undefined", [T28] =-1, [T29] :E, [T30] :—T, ,7
J2 2 \
[T31] =2, [T32] =43,  [133]=-"—  [134 = (139 -2, o
3 1 3 \
[T36] =1, [T37]:—§, [T38]=5, [T39]:T, [T40]:«/;, 4
[T41] =-9, [T42] =363,
X [Page = 0009]

[T43] =32,  [T44] =-5
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TrigonometryExercise Answers for ID 10914

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXXXXKXXXKXXXXKXXXKXXXM5/1-6700301-00019XX

[TI] =0, [T2] =m, [T3] =m, [T4] =0 [T5] :-351
6] == 7)== 757 =% 197 = 2% r10) =22
[T6] ==, [T7] =", [T§]=—r  [T9] === [TI0] ==
Ti] == T12] =~ r13) =1~ 7147 <% 157 =28
[Tlj=7. [T ==. [TI3]=— [T4=="  [T15] =~
Ti6] =— T17) <= 18] =% 19y =2k 207 < 11T
[T16] =7 []—6 []— []—6 []—6
M=o, p=1 ms-o. mg=1 w0,
[T26] =-1,  [T27]=-1,  [T28] = "undefined", [T29]:§, [T30]_—@, @
[r31] =43, [132] =@, [T33] :—ﬁ, [T34] =@, [T35] =1, £
[T36] =1,  [T37] = @ [T38] = 31 [139] =+[3,  [T40] =2, , @
[T41] =0, [T42] =18, [T43] =-23 [T44] = -8

TrigonometryExercise Answers for ID 10945

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXXXXKXKXXKXKXXKXKXXKXKXXKXKXXKXKXXKXKKXXMS /1-6700301-00020XX

[Tl]=n,  [T2]=0, [T3]=n,  [T4]=0,  [T5] :37“
T6] =— 7] == 78] -~ 197 - 2% T10] ==
[rej==.  [17]=7. [T8§) == [T9 =" [TI0] ="
Ti1] == T12) - 2E 7137 == 7147 =% T15) =2
[T ==, [T12] == [Ti3j==r,  [TH]==r= [TI5]="—,
b Tn b Sn 17
[Tie] =7, [TI7] ==~ [T18] == [T19] ==~ [120] =
[T21] =-1,  [122]=0,  [123]=1,  [T24]=0,  [T25]=-1, @
[T26] =0,  [T27] =-1 [T28] = "undefined", [T29]:%, [T30]:@, @
[T31] =@, [T32] =-2,  [T33] = —ﬁ, [T34] = —72, [T35] =1, @
(1367 =2, [T37] = g [138] ==
[T41] =-13,
X [Page = 0010]

. [139] =4[3,  [T40] =2, @
[T42] =38,  [T43] =24

. [T44] =21
):9:0:0.0:9.9:0.9:9.:9:0.9:9.:9:0.9:0:0:0.0:9.0:0.9:9.9:0.9:0:9:0.9:0:0:0.0:0:0:0.0:9.9:0.0:0:9:0.0:9:0:0.0:0:0:0.0:9.0:0.0:9.0:0.0:9.0:0.0:0.0:0.0:9:0:0.0.:0.0:0.0:0:9:0.0:0.0:0.0:¢
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TrigonometryExercise Answers for ID 10954

[T]] ==, [T2] =0, [T3] =m, [T4] =0, []“5]:377.E

T 37 i S5n 27
[T6]:z, [T7]:7, [T8]:;, [T9]:T, [T]O]:T
Tl —4n T2 T Ti3 I Ti4 —3—TC T15 —7—7[
[ ]_ 3 > [ ] - 39 [ ] - 4, [ ] - 4 > [ ] - 4
S5n Tr S5n T I1xw
[T16]:T’ [T17]:?, [T18]:T, [T19]:z, [T20] = P
[T21] =-1, [T22] =0, [T23] ="undefined", [T24] = "undefined", [T25] =0, ,@
/3 ! ol
[T26] =1, [T27] =0, [T28] = "undefined", [T29] :T, [T30] :E’ ,7
[T31]:«/;, [T32] =-2, [T33]:—£, [T34]:@, [T35] =1, ,@
[T36]:«/5, [T37]:%, [T38]:—@, [T39]:@, [T40]:—¥, ,@
[T41] =20, [T42] =-21,

[T43] =-2,  [T44] =189

X Math@MUT XXXXXXXXXXXXXXXXXKXXXXKXXKXKXKXXKXXKXXKXXKXKKXXKLX KKK KK KKK XXX KL XXX XXX KX KKK KXXKXMS /1-6700301-00022XX
TrigonometryExercise Answers for ID 10966

[T1] =0,  [T2]=n, [T3]=n, [T4] =0, [T5] :37“

37 b b b S5n
[T6]:7, [T7]:5, [T8]:5, [T9]:;, [TIO]:T
27 41 Sn b i
[T]I]:T, [TIZJZT’ [T13]:T, [T14]—T, [T15]—Z
3n Tn 11w 5n b
[T16]:T, [T]7]:?, [T]8]:T, [T19]:T, [TZ()]:E
[T21] =0, [T22] =-1, /T23] = "undefined", [T24] =1, [T25] =-1, ,@
[T26] =0, [T27] = "undefined", [T28] =-1, [T29] :@, [/T30] :%, ﬁ
[T3]]:€, [T32] =2, [T33]:—@, [T34]:—@, [T35] =1, s

[T36] =2, [T37] :%, [T38] =— @ [T39] =4[3,  [T40] =2,

/
[T41] =37,  [T42] =-56,  [T43] =
X [Page = 0011]

=363,  [T44] =33
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXX XX XXX XX XXXXKXXXKXXM5/1-6700301-00023XX
TrigonometryExercise Answers for ID 11154

[TI] =0, [T2] =0, [T3] =m, [T4] ==, []“5]:377.E

76, - 17 —3—n 18 - 79 - T10, —4_n
[.]_27 [.]_25 []_25 []_35 [ ]_3

[\

iy =2 iy =2E iy =2t g =2 s =t
37 30 4 4 4
T16) =~ 717) =L T18) == r19] =2~ T20] ==
[ ]_ 4 ) [ ] - 6 bl [ ] - 6 > [ ] - 6 > [ ] - 6
\
[T21] =1,  [T22] =0,  [T23] ="undefined",  [T24] =0,  [T25] =-1, g
1 I3 Ji
[T26] =0, [T27) ="undefined”,  [T2§] ="undefined’,  [T29] =7,  [T30] ==~ S
2 2 \
[T31] =2,  [T32] =43, [T33]:§, [T34]:§, [T35] =1, 4

Py

[T36] =—[2,  [T37] = - [T38]:%, [T39] =2, [T40] =43,

[T41] =0, [T42] =6, [T43] =-17,

N,

[T44] =3

X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXKXKXKXXKXXKXXKKXXKXKKXXKX KKK KX XKX XXX KL KKK XXX KK KKXKXXKXME /1-6700301-00024XX
TrigonometryExercise Answers for ID 11191

[Tl]=n,  [T2]=0, [T3]=0, [T4]=n, [T5]=3TTE

T6, —3—7[ 17, - T8 - 79 —2—n T10, _4_7:
[]_23 []_23 []_23 []_3’ [ ]_3
T

T11 - Ti2 ek T13 _= T14 ek T15] = &
[ ]_ 37 [ ] - 3 > [ ] - 4> [ ] - 4 > [ ] - 4
Ti6, —ﬁ Ti7 = Ti18] = Hr T19 —7—n 720 —S—R
[ ]_ 4 ’ [ ]_ 65 [ ] - 6 k] [ ] - 6 > [ ] - 6
|
[T21] =0,  [T22] =-1,  [T23] ="undefined",  /[T24] =0,  [T25] =0, , £
I V3 i
[T26] =-1,  [T27] ="undefined",  [T25] ="undefined",  [T29] ==, [T30] ===, S
243 2 2 |
[TSIJZ_T[’ [T32] =2, [T33]:—{, [T34]=—§, [T35]=—1/5, ,[
3 -1 |
[T36] =1,  [T37] = [ [138]=—.  [T39]=-2  [T40] =43, {
[T41] =-3, [T42] =5, [T43] =18, [T44] =-30
X [Page = 0012]
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TrigonometryExercise Answers for ID 11309

[T1]=0, [T2]=n,  [T3]=m,  [T4] =0,  [T5]= 37“
T RE s T 27 4
[T6)=7.  [17]="  [T8]=0. (19 =" [T10]=—
iy =% o=t T13] == T14 == T15] =
[ ]—3 [ ]—3, [ ]—4, [ ]—4 [T15]
T16] =2~ T17] == T18) == r19] =2~ 7207 ==
[ ]—4 [ ]_6’ [ ]_6’ [ ]—6 [T20] =
[T21] =1,  [T22] =0,  [T23] =0,  [T24] = "undefined",  [T25] =0, , @
[T26] =-1,  [T27] =0,  [T28] = "undefined",  [T29] = % [T30] = - @ , @
[T31] = —#, [T32] =3, [T33] = —ﬁ, [T34] = — @ [T35] =2, , @
[T36] =A[2,  [T37) =%, [T38] =@, [T39] =@, [T40] =#, @
[T41] =-5,  [T42] =-38,  [T43] =20,  [T44] =22

X Math@MUT XXXXXXXXXXXXXXXXXKXXXXKXXKXKXXXKXXKXX KX XXX KKXXKX KKK KX KKK XXX KL KKK XXX KX KKK KXXKXME /1-6700301-00026XX
TrigonometryExercise Answers for ID 12483

[T1] =,

[T2] =0, [T3] =m, [T4] =0, [T5]:§
T6, —3—7[ T7 I T8 —3—n T9 T10
[]—2, []—2, []—2, []—3 []—
Tl 72_7r Ti2 74_75 Ti3 Z Ti4 o Ti5 3—
[]—3, []—3, []—4 []—4 []—4
Ti6 —ﬁ T17 —S—TC TI8, —7—7[ T19] = Hn 720, ul
[]—4, []—6 []—6, []6, []—
[T21] = -1 [T22] =0,  [T23] = "undefined",  [T24] =-1 [T25] =0, , @
[T26] =-1,  [T27] ="undefined",  [T28/ =1,  [T29] = 31 [T30] = @ , @
[T31] =-2, [T32]:ﬁ, [T33]:—@, [T34] = @, [T35] =1, ,@
[T36] = /2, [T37]:—@, [T38]:l, [T39]:—%, [T40]:£, ﬂ
[T41] =37,  [T42] =-10,
X [Page = 0013]

3
[T43] =3,

[T44] = -22
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TrigonometryExercise Answers for ID 12557

[T1] =0, [T2] =m, [T3] =0, [T4] =m, [T5]:§

T6) =2~ 7] == 78] =2~ 197 =L T107 ==
[rej=—- [M7]=—, [I§=—"  [T9]=—"7r,  [TI0]=—7
[T11] == [TI2] 2T [T13] 2 [T14] == [TI5] 2
3 37 4 4 4
T16) == T17) =% TI8] =— r197 =% 120 ==
[ ]_ 4 > [ ]_ 6 > [ ] - 6’ [ ]_ 6 > [ ]_ 6
|
[T21] =0,  [T22]=-1,  [T23] ="undefined",  [T24]=0,  [T25]=1, 4
1 3 W
[T26] =0, [T27] =1,  [T28] ="undefined", — [T29] =,  [T30] ==, e

2

L (132 =2. T3] =" V2 2,

[T31] = [T34] == [T35] =

0E)

\|§|\

>

[T36] =—[2,  [T37] = % [T38] = — @ [T39] =2, [T40] =43, ,

[T41] =-15,  [T42] =29,  [T43] =60,  [T44] =13

.

X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXKXKXXXKXXXXKXXKXKKXXKX KKK KK KKK XXX KL KKK XXX KX XXX KXXKXME /1-6700301-00028XX
TrigonometryExercise Answers for ID 12637

[T]] =m, [T2] =m, [T3] =0, [T4] =0, [T5]:§

T6, —3—7[ 17, - T8 —3—n T9 _Z T10, _4_7:
[]_23 []_23 []_2’ []_3’ [ ]_3

Tl n Ti2 2n Ti3 n Ti4 i T15 n

[]—3, []—3, []—4, []—4, []—4
Tn 5n b Tr 11n

[T16] :T, [T17] :?, [T18] :Z’ [T19] :T, [T20] =

Ty e

[T21] =1,  [T22]=0,  [T23]=0, [T24]=1,  [T25]=1,

[T26] =0,  [T27] =0,  [T28] ="undefined",  [T29] = % [T30] = @ , @
[T31] = —é, [T32] =@, [T33] :@, [T34] = —@, [T35] =1, @
[T36] =2, [T37] = @ [T38] = % [T39] =— 2 3 3 . [T40] =43, , @

[T41] =18,  [T42] =72,  [T43]=-7,  [T44] =-16

X [Page = 0014] XXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXKXKXKXKXKXKKKXKXKXKXKXKXKXKKKXKKXKXKKKXKKXKXKXKKXKKXKK KKK KK KXKKKK




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXX XX XX XXX XX XXXXXXXM5/1-6700301-00029XX
TrigonometryExercise Answers for ID 12689

[T1] =0,  [T2]=n, [T3]=0, [T4]==n,  [T5]= 32—n
76, _3_75 17 - T8 - T9 —2—n T10, _5_1:
[]_27 []_27 []_27 []_33 [ ]_3
T11 - T12 _ir T13 _2r T14 _1r TI5 i
[ ]_ 39 [ ]_ > [ ]_ 4 > [ ]_ 4 > [ ]_ 4
Ti6, _3r T17, ek T18 _= T19 1z 120] = Hr
[ ]_ 4 H [ ]_ 6 H [ ]_ 6’ [ ]_ 6 H [ ]_ 6
[T21] =0,  [T22] =-1,  [T23] =0,  [T24] ="undefined",  [T25] =-1, @

[T26] =0,  [T27] ="undefined",  /T28] = "undefined",

A3 1A
[T29] == [130] =, y
[T31] =4[3,  [T32) =@, [T33] =—£ 2 il

L 134 == [T35] =42, wAR

—_ N

[T36] =1, [T37]:@, [T38] ==,  [T39]=-2,  [T40] =43,

[T41] =-8,  [T42] =24,  [T43] =-10,

® |

[T44] =-10

X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXKXKXKXXKXXKXXKKXXKXKKXXKX KKK KEXXKX XXX KL KKK XXX KK KKXKXXKXME /1-6700301-00030XX
TrigonometryExercise Answers for ID 13349

[T1] =0, [T2] =, [T3] =m, [T4] =0, [T5]:§
T6, = T7 —S—TC T8 —3—n 79 _2_7: T10 —ﬁ
[]_2’ []_23 []_27 []_3’ [ ]_3
T11 74_75 Ti2 - T13 1z T14 - T15 *3—n
[ ]_35 [ ]_3a [ ]_45 [ ]_4a [ ]_4
Ti6, —ﬂ Ti7 —S—TC TiS8 —H—TC T19 = 720 —7—n
[T16] === [TI7] == 7 [T18] === [TI9] =", [120] ==
[T21] =0, [T22] =1, [T23] ="undefined", [T24] =1, [T25] =0, ,@
[T26] =1,  [T27] =-1,  [T28] ="undefined",  [T29] = 31 [T30] = @ , @
[T31] = f [T32] =43, [T33] = —@, [T34] = —@, [T35] =1, @
[T36] =1, [T37]:—§, [T38]=%, [T39]=—%, [T40]:ﬁ, ,@
[T41] =-18,  [T42] =-5,  [T43] =-12,  [T44] =-16
X [Page = 0015]
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TrigonometryExercise Answers for ID 13519

[T1] =0, [T2] =0, [T3] =m, [T4] =m, [T5]:§

76, i T7, an 78 -z 79 T10, _2_1r
[]—2, []—2 []—2, []—3 []—3
[T11] = n [T12] = E [T13]—E [T]4]—3— [T]5]—7—n
BER 3’ T4 4 4
S5n I1xw S5n b Tr
[T16]— [T17] = , [TI18] =—, [T19] =—, [T20] =——
6 6 6 6
|
[T21] =-1, [T22] =0, [/T23] = "undefined", [T24] = -1, [T25] =-1, ,4
1 3 i
[T26] =0, [T27] =-1, [T28] = "undefined", [T29] :E’ [T30] :_T’ LT

[133] =" [134] =~ 72 [T35] =42, , 7\
[T38] = @ [T39] =A[3,  [T40] = 23 ol

3 /
[T41] =100,  [T42] =2,  [T43]=-52,  [T44]=-9

/
[T31] =@, [T32] = —#, 2 /2

[T36] =1, [T37]:i,

X Math@MUT XXXXXXXXXXXXXXXXXKXXXXKXXKXKXKXXKXXKXX KK XXX XXX KX KKK KEXXKX XXX KL XXX XXX KX XXX KXXKXME /1-6700301-00032XX
TrigonometryExercise Answers for ID 14276

[Tl]=n,  [T2]=0, [T3]=0, [T4]=n, [T5]=3TTE

T T 3n 27 5w
[T6] =7 [17] =7 [T8] = [T9] =75 [T10] =3
i 47 3 T K
[Tij==,  [T12)=—r,  [TI3]="" [T14] =7 [T15] ==~
TI6, _2r T17, _2r T18 Iz T19] == T20] = Hr
[T16] ===, [TI7] ==~ [TI8] == [T19] =" [T20] =
[T21] =0, [T22] =1, [T23] = "undefined", [T24] = -1 [T25] =0, ﬂ
3 g '
[T26] =1, [T27] =0, [T28] = -1, [T29] = [T30] = "
[T31] =2, [T32]=ﬁ, [T33]=@, [T34]=—@, [T35] = 4— @
[T36] =1, [T37]:§, [T38]:£, [T39] = -2, [T40] :i @
[T41] =30, [T42] = -1,
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[T43] =20,  [T44] =-
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TrigonometryExercise Answers for ID 14380

[Tl] =n,  [T2] =0,

[T3] =0, [T4] ==, [T5]:§
3n 37 b Sn 27
[T6]:T, [T7]:7’ [T8]:;, [T9]:T, [T]O]:T
47 T E S5n 3n
[TH]:T’ [TIZ]:;, [T]3]:T, [T14]:T, [T15]:T
b1 Tr b 1ln S5n
[T16]:2, [T17]:?, [T18]:E, [T19] = 6’ [T20]:?
[T21] =-1, [T22] =0, [/T23] = "undefined", [T24] = -1, [T25] =-1, ,@
[T26] =0, [T27] = "undefined", [T28] =1, [T29] :%, [/T30] ——@, ,@
[T31]:@, [T32]:—#, [T33]:—@, [T34]:—@, [T35] =1, ,@
[T36]:«/;, [T37]:%, [T38]:g, [T39]:@, [T40]:£, ﬁ
[T41] = -9,

3 2
[T42] =8, [T43] =51,  [T44] =7
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TrigonometryExercise Answers for ID 14393

[T1] =0,  [T2]=n, [T3]=n, [T4] =0, [T5] :37“

[T6] =~ 17 == [TS] = an [T9] = o [T10] = an
-2’ 2’ 27 37 -3
T11 72_75 Ti2 - T13 ek T14 - T15 Iz
[ ]'_ 3 H [ ] - 37 [ ]'_ 4 ’ [ ‘]_ 47 [ ]'_ 4
Ti6, —ﬁ Ti7 = Ti18] = Hr T19 —S—R 720 _7_7:
[ ]‘_ 4 > [ ]"65 [ ]'_ 6 k] [ ]'_ 6 s [ ]'_ 6
|
[T21] =1,  [T22] =0,  [T23]=1,  [T24] ="undefined",  [T25] =1, , i
[T26] =0,

[T27] ="undefined",  [T28] =0,

[T29] = —ﬁ
G

S (T30]=
[T31] =T3, [T32] =3, [T33] = —@, [T34] :@, [T35] =42,

s

N | —
SN

1 3 24/3 |
(r36] =2, (137 =, [T38J=§, [139] === [140] =43, 4
[T41] =16,  [T42] =-114,  [T43] =-51,
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[T44] = -15
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TrigonometryExercise Answers for ID 14417

[T1] ==, [T2] =m, [T3] =0, [T4] =0, [T5]:§

3n 3n n sn 2n
[T6] =" [T7]=".  [T8)=T.  [T9 =", [T10]="
L3 4n I L3 ELS
(1] =7, [TI2]=—r  [TI5 =" [Tl =" [TI5]=",
sn RN In n sn
[T16] =" [T17]=——.  [TI§]="— [T =",  [T20] ="
[T21] =-1,  [T22] =0,  [T23] =-1,  [T24] ="undefined",  [T25] =0, @

i

B
[ ]_25 y/

[T26]=-1.  [T27]=0,  [128]=-1.  [T29] ==~

/3 243 [T33] =@ [T34] :—@, [T35] =2, @

[T31]:T, [T32]:T, ,

N,

[T36] =A[2,  [T37] = 31 [T38] = @ [T39] =43, [T40] =2, ,

[T41] =-11,  [T42] =26,  [T43] =-8,  [T44] =-30
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